=

{(1/Nevents) d I\Ich’/dr] , Ao}
O
oo

o
o))

0.4

0.2

Ratio to CDF

0.5

(P [GeV]}

1960 GeV ppbar Underlying Event
[~ 1T T 17 717 7T 177 | T T T T T TT | T T T T T TT | Tt T T T T T |_
L d ]
B <N_> Vs p'Tea (b, >0.5GeV, | <0.8) B
- m CDF -
- o-- Pythia 6.428 390 -
— - 8- Pythia 6.428 391 —
| - % Pythia 6.428 392 ]
| ---- Pythia 6.428 396 _
| --%-- Pythia 6.428 397 _
. ---¥-- Pythia 6.428 398 |
L T ]
| | ]

|
B LR T R s
B ﬁiﬁﬁ;,;:?j_ _,,gf’i::::j ? - \é |
— #¥ ’?i’f T ) ]
| Hx - _
L if,* ' _
L * _

,‘| | | | | | | | | | | | | | | | | | [ |
: T T T T | T T T T | T T T T | T T T T |:
= T E
- | -
@ ’
_¥;¥¥*$¥ :

" 1 1 1 1 " | " 1 1 1 1 | " 1 1 1 1 " | " 1 1 1 " 1 " |
0 5 10 15 20

Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


